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SECOND LANGUAGE ENGLISH — MODEL QUESTION PAPER-1

Four alternatives are given for each of the following questions / incomplete statements.
Only one of them is correct or most appropriate. Choose the correct alternative and write
the complete answer along with the letter of alphabet. 4x1=4

Read the given conversation and choose the language function for the underlined sentence:
Manoj: Next week | have maths exam, | have never scored good marks in that subject.
Tamannah: Don’t worry, |_will teach you to solve maths problems easily.

a) Suggesting b) seeking help c) offering help  d) sympathizing

Choose the appropriate question tag and fill in the blank:

Rachana exercises daily, ?

a) doesn’t she? b) does she? c¢)don’t she? d) didn’t she?

Read the given conversation and fill in the blank choosing the most appropriate words?
Pranathi: Suraj got second place in debate competition.

Yasmin: If he had read more about current affairs, he won the competition.
a) Wouldn’t have  b) should have c¢) shouldn’t have  d) would have

Read the following and choose the infinitive:

The old man quoted rupees 20,00,000 for his land. But Sathvik did not have enough money.
So, he requested his friend to lend him some money.

a) Quoted b)tolend c)requested d) have

Do as directed: 12x1=12

Which one of the following words has two syllables?

Examine, prepare, texts, marathon

Combine the word in Column-A with its collocative word in Column B:
A B

Voracious (runner, swimmer, reader, singer)

Fill in the blank using the correct article:

Khasim was awarded as __ best NCC cadet.

Fill in the blank using suitable linker:

Janet loves farming, she bought one acre land in her village.

Fill in the blank with appropriate preposition:

They went to Goa a week

Fill in the blank with appropriate tense form of the verb given in bracket:

Laxman (eat) fruits daily.

Identify the part of speech of the underlined word:

Mysore is the yoga capital of our country.

Write the correct tense form of the word given in brackets:

Teacher eligibility test was (conduct) to select the teachers.

Use the word ‘book’ as verb in sentence.

Change into comparative degree:

Kashmir is the most beautiful place on this earth.

Change into passive voice :

Police caught the burglar.




16. Read the following conversation and change the underlined sentence into reported speech.
Harshitha: Are you attending the concert tomorrow?

Vinutha: No, | have to prepare for my board exams.
Harshitha asked Vinutha

I1l. The following paragraph has two errors. Edit the paragraph and rewrite them 2x1 =2
17. Ram was please to see Shashi and welcomed her. He polite asked her to remove her shoes.

(a) Verbal mistake to be corrected.

(b) Adverbial mistake to be corrected.

IV. Answer the following questions in 2-3 sentences each : 7x2=14
18. Why do you think Swami wished that the tiger had not spared the boy?
19. Why does Roma consider Baleshwar's action to be amazing ?
20. Dr B R Ambedkar had rare gifts. Justify the Statement.
21. How is pursuit of science an exciting adventure?
22. Norman Nicholson decides neither to write any letter nor to post any mail, why?
23. How can you say that Mr. Patil was a well wisher of Mohan’s family?
OR
How could Dicky Dolma achieve the great feat inspite of her hardships
OR
24. Life for Haneef in the beginning was never a smooth sail. Why was it so?
OR
Why were the people miserable in Wangjia's village?

V. Answer the following questions in 5-6 sentences: 2X3=6

25. “Satish Gujral became a great artist.” Support this statement mentioning a few of his
achievements.

26. In the poem 'T am the land’ the speaker is patient, yet assertive. Substantiate in your own words.

V1. Read the following extracts and answer the questions that follow: 4x3=12
27. "1 have agreed to sell my land and my house for twelve hundred dollars and that is my
price.”

a. Who is the speaker?
b. When did the speaker make this statement?
c. What does it reveal about the speaker?
28. "It's the chance of a life time.”
a. What was the chance?
b. Why does the speaker say so?
c. How did he get the chance?
29. ""Cowards, Cowards! You will have to kill me first.”
a. Who is the speaker?
b. Whom did the speaker call as cowards?
c. When did the speaker say these words?



30. ""We are lost!"" The Captain shouted.
a. Who does ‘we’ refer to?
b. Why did the speaker say so?
c. Who instilled hope in him?

VII. Given below is a profile, Write a paragraph using the clues given below: 1X3=3
31. Name . Manav

Date of birth : 24™July 1978, Hubballi

Qualification . MA., M. Ed

Profession : Teacher, St Martha’s Highschool, Haveri

Hobbies . Reading and Trekking

Reasons for popularity : honest and hard working

VII1. Develop a story using the clues given below: 1X3=3
32. Boy named John — very lazy -did not change clothes- saw apple tree- full of fruits wanted

to eat- lazy to climb- lay under the tree- whole day waited — fruits to fall- never fell-went

home starving-Moral.

IX. Study the picture given below: 1X3=3
33. Write a description or an account of what the picture suggests to you in a paragraph.

Lty
W
A

30
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X. Quote from memory: 1x4=4
34. It is enthroned---------------- Then let-- --

-------------------- seasons justice - ---blind boy




XI. Read the following passage and answer the questions that follow: 2Xx2=4
35. Long, long ago it was not easy to get books as it is today, for they were all written by hand. When
you remember how long you take to write a page, you will understand how much patience and
toil went into the making of books. Most of the book making was done by monks who used to sit

in little cells, carefully copying. They made beautiful letters, colouring the capitals with bright

ink and paints Their fingers grew stiff and their eyes tired, but still they worked far into the night.

Sometimes it took years to make one book. Books cost so much money that they were chained to

the tables where they lay, so that nobody could steal them. It was only when printing was

invented that books could be made far more quickly and plentiful.

a. 'But still they worked far into the night." What does this tell you about the character of
the monks?

b. Why was it not easy to get books long ago?

XI1. Answer the following question in about 8 — 10 sentences: 1x4=4
36. Explain the unusual habit of Ruskin bond’s grandmother?
OR
How does the poet describe the mother’s helplessness in the poem “ The song of India “?
OR

How do you say that Jazz musician is a pathetic figure and a commanding artist?

XII1. Write an essay on any one of the following : 1x4=4
37. (a) India’s achievement in space science (b) Air pollution (c) Health is Wealth

XIV. Write a letter using the information given below : 1x5=5
38. Imagine you are Charan / Charvi studying in Government High School, Hanagodu
Write a letter to your friend describing ‘School Day’ celebrated in your school.
OR
Write a letter to the Manager, State Bank of India, Mysuru, requesting him to link your
Aadhaar card to your SB account.



SECOND LANGUAGE ENGLISH — MODEL QUESTION PAPER-2

I. Four alternatives are given for each of the following questions / incomplete statements.
Only one of them is correct or most appropriate. Choose the correct alternative and write
the complete answer along with the letter of alphabet. 4x1=4

1.

Read the given conversation and choose the language function for the underlined
sentence:

Karthik: Good morning, Sir, where will | find history books?

Librarian: Last shelf third row.

a.Making enquiry b. Seeking permission  c.Giving information  d.Expressingagreement
Choose the appropriate question tag and fill in the blank:
Employees were not ready for the change in policies, ?

a.Were they b.weren’tthey c.arethey d.aren’t they
Read the given conversation and fill in the blank choosing the most appropriate words:
Vasuma : Usman discontinued his studies.
Nataraj : If he had money, he done that.

a.Would have b.wouldn’t have c.will have d. would
Read the following and choose the infinitive:

Akshatha:Nakul, you bake the best cake in town.

Nakul: 1 learnt to bake from my sister.

a.bake  b.learnt  c.in d.to bake

Il. Do as directed: 12x1=12

5.

6.

10.

11.

12.

13.
14.

15.

Which one of the following words has one syllable?
Speech, spoken, carry, explore
Combine the word in Column-A with its collocative word in Column B:

A B

fast [ lunch, dinner, breakfast, food ]
Fill in the blank using the correct article:
Yesterday | read article on climate change.
Fill in the blank using suitable linker:
She can get admission to good university she works hard.
Fill in the blank with appropriate preposition:
This book belongs Anne.
Fill in the blank with appropriate tense form of the verb given in bracket:
Every year we (be+lose) the game because of her foolishness.

Identify the part of speech of the underlined word:

Baleshwar pulled the red emergency chain impulsively.

Write the correct form of the word given in brackets:

The stranger collected (inform ) from the nearby police station.
Use the word ‘board‘as verb in sentence.

Change into superlative degree:

No other country in the world is as populated as India.

Change into passive voice:

Xavier is writing a poem.




16. Read the following conversation and change the underlined sentence into reported
speech.
Madhav:Srujan, when will you submit your assignment?
Srujan:1 will submit next week.
Madhav asked Srujan when he would submit his assignment.
Srujan replied that

I1l. The following paragraph has two errors. Edit the paragraph and rewrite it. 1X2=2
17. Gagan was fond of riding bycycle. One day he ride it so fast that he lost control and hit

against an electric pole.
a. spelling mistake to be corrected

b. verbal mistake to be corrected

IV. Answer the following questions in 2-3 sentences each : 7x2=14
18. Why did Nehru describe Dr B R Ambedkar as a “ symbol of revolt “?
19. Pandit Ravi Shankar, sitar maestro deserves our appreciation. Support this statement.
20. Why didn’t Satish want to go to a new school?
21. What lessons did Keilis Borok learn at the Geneva summit?
22. What do the night, the Sun God and clear dawn represent?
23. How was the students’ march an unusual march?
OR
What can we learn from Dolma’s life?
24. As a soldier, Haneef had various talents and interests in his youth. Illustrate the statement.
OR
What qualities of Wangjia do you like?

V. Answer the following questions in 5-6 sentences: 2x3=6
25. How did Baleshwar manage to take the girl to Divine Multi-speciality hospital?
26. Jazz player is a pathetic figure but at the same time a commanding artist. Explain.

V1. Read the following extracts and answer the questions that follow: 4x3=12
27.“ Why don’t you join the police when you are grown up?”
a. Who made this suggestion?
b. Why did the speaker suggest so?
c. What were the ambitions of the listener?
28. “ It took months of negotiation to come to an understanding with the old man.”
a. Who is the “ Old man” referred here?
b. What was the negotiation about?
c. Why do you think it took months to come to an understanding?
29. “ The first man to move shall spend the rest of the night in irons.”
a. Who does I ‘ refer to?
b. What made the speaker say this?
c. What does  in irons ‘ mean in the context?



30. “ There won’t be any calendar, there won’t be any clock;
Day light will be on the switch and winter under lock.”

a. Who is the speaker here?

b. Where is the speaker preparing to go?

c. What does the expression  winter under lock’ mean?

VII. Given below is a profile, Write a paragraph using the clues given below: 1X3=3
31. Name : Rameshbabu Praggnandhaa
Date of birth : 10 August 2005, Chennai
Parents : Rameshbabu, Nagalaxmi
Nationality : Indian
Occupation : chess player

Title : grandmaster (2018)
Awards : Arjuna Award for chess
VI111. Develop a story using the clues given below: 1X3=3

32. Five cows -lived together -grazed together- lions couldn’t attack- cows fought- grazed in
different places- lions seized the opportunity- Killed all the cows-Moral.

IX. Study the picture given below: 1X3=3
33. Write a desc

I Ve

X. Quote from memory: 1x4=4
34. The throned monarch ---------=--======-emm—-- With heavy -------
..................................................... OR --- S




XI. Read the following passage and answer the questions that follow: 2x2=4

35. Reading is an excellent source of knowledge and a powerful tool for personal growth.
Books open doors to new worlds, ideas, and perspectives that can expand our knowledge
and understanding. Whether it's classic literature, self-help books, or poetry, reading
allows us to explore different experiences and emotions that can enrich our lives.
Reading has numerous benefits for our mental and emotional well-being. It stimulates our
brain, improves focus and concentration, and enhances our critical thinking skills. Moreover,
reading can be a form of escapism, providing a healthy distraction from daily stressors as we
immerse ourselves in captivating stories and characters.

a. What are the benefits of reading for personal growth?

b. Why is reading considered a form of escapism?

XI1. Answer the following question in about 8 — 10 sentences: 1x4=4
36. According to the poet Ruskin Bond, his grandmother was unique. Justify.

OR
How does the poet Marina de Bellagenta express the feelings of the land?
OR
Write the summary of the poem ‘ Ballad of the tempest  in your own words.
XII1. Write an essay on any one of the following : 1x4=4
37. (a) Cleanliness is Godliness  (b) National Festivals (c) Sports and games

XIV. Write a letter using the information given below : 1x5=5
38. Imagine you are Bharath/Bhanavi studying 10" standard,Bharath Matha Residential

School,Gonikoppa.

Write a letter to your father explaining about your preparation for the upcoming board exam.
OR

Write a letter to the Director, Mysore Zoo requesting him/her to grant permission to visit the

veterinary hospital inside the zoo.



SECOND LANGUAGE ENGLISH — MODEL QUESTION PAPER-3

Four alternatives are given for each of the following questions / incomplete statements.
Only one of them is correct or most appropriate. Choose the correct alternative and write
the complete answer along with the letter of alphabet. 4x1=4

1. Read the given conversation and choose the language function for the underlined
sentence:
Monica:What happened Bhavani? you look very sad.
Bhavani: My father is sick.
Monica : He is sick for a while. Consult a good doctor.
(A)Advice (B) Order (C) Request (D) Obey
2. Choose the appropriate question tag and fill in the blank:
They are hardworking and honest, ?
(A) Are they (B) aren’t they (C) were they (D) weren’t they
Read the given conversation and fill in the blank choosing the most appropriate words:
Student 1 : We lost the match in just one point.
Student 2 : If we had playground to practice we won the match.
(A)Would have  (B) would not have (C) should have (D) will not have
4. Read the following and choose the infinitive:
Teacher: Dear students, get ready for drawing competition tomorrow
Raghav : Are there prizes for that sir?
Teacher : Sure. There will be three prizes. Don’t forget to bring colours and other
necessary things.
(A) Ready (B)sure (C)tobring (D) will

w

Do as directed: 12x1=12
5. Which one of the following words has two syllables?
Word, smart, slit, return
6. Combine the word in Column-A with its collocative word in Column B:

A B
long - [run, sleep, short, food ]
7. Fill in the blank with suitable article:
| found a pair of shoes near the door. But __ shoes did not have laces.
8. Fill in the blank with suitable linker:
His success is largely of his hard work.

9. Fill in the blank with appropriate preposition:
The interior___this building is mind blowing.
10. Fill in the blank with appropriate tense form of the verb given in bracket:
We (complete) the work and played whole afternoon.
11. Identify the part of speech of the underlined word:
Raju is a smart boy.
12. Write the correct form of the word given in bracket
Edison’s (invent) of electric bulb was a revolution in the field of science.
13. Use the word ’answer’ as verb in sentence.




14. Change into superlative degree:
No other girl in the class is as clever as Rashmi.
15. Read the following conversation and change the underlined sentence into reported
speech.
Father : you look so happy Surya!
Surya : DI’ve found a new job.
Father asked Surya why he was happy.
Surya replied that
16. Frame a question to get the underlined word as answer:
Karan left to Bengaluru yesterday.

I11. The following paragraph has two errors. Edit the paragraph and rewrite it .
17. A small crowd had gathered around the entrence of the park. Pavan crossed the road to see
what was happening.
a. Spelling mistake
b. Use correct punctuation mark

IV. Answer the following questions in 2-3 sentences each : 7x2=14
18. What makes you think that Don Anselmo was a gentleman?
19. Why is Dr B R Ambedkar considered as a champion of the depressed classes in India?
20. How do you say that Anant was a talented boy?
21. According to the author,why do some people choose to become scientists?
22. The poet is off to outer space tomorrow morning.What does he ask the readers to do?
23. What made the students march in complete silence?
OR
What hardships did Dicky Dolma face in her early life?
24. How does the writer describe the ‘Introvert’ Haneef?
OR
How can you say that the people in the poor area of Tibet were unhappy?

V. Answer the following questions in 5-6 sentences: 2X3=6
25. How did Swami become a hero overnight though he was not courageous?
26. How does the poet discriminate jazz player’s appearance with his artistic character?

V1. Read the following extracts and answer the questions that follow: 4x3=12

27. “Let’s go and help her”.

a. Who gave this suggestion?

b. What made the speaker say so?

c. Why didn’t others come to the speaker’s help?

28. “The captain is always furious when he hears it”.

a. Who is the speaker?

b. Who does the ‘captain’ refer to?

c. What does ‘it’ stand for?



29. “He saw a bird that was unlike any he had seen before”.
a. Who is the ‘he’?

b. Where did he see the bird?

c. What was the most interesting thing about the bird?

30. “You say you own me;” I wait.

a. Who is the speaker?

b. Who owns the speaker?

c. What quality of the speaker is highlighted here?

VII. Given below is a profile, Write a paragraph using the clues given below: 1x3=3
31. Name . Baichung Bhutia
Date of birth : 15 December 1976, Sikkim
Height : 5 ft 8 inches
Spouse : Madhuri Tipnis
Sport - foothall

Honours : ASEAN Club Championship (2003), Federation Cup (2009,2010)

VI111. Develop a story using the clues given below: 1x3=3

32. Hungry dog- butcher’s shop- piece of meat- crossing the stream- saw his reflection- barked-
meat fell into the water-Moral

IX. Study the picture given below: 1X3=3
33. Write a description or an account of what the picture suggests to you in a paragraph.

X. Quote from memory: 1x4=4
34. The quality of mercy------------ My day or night--------------------

.................. mightiest; it becomes - ----always day.



XI. Read the following passage and answer the questions that follow: 2x2=4
35. For the last fifty years, the globe has been warming up. It is true that the average temperature

rise is only about two degrees, but that has been enough to start the glaciers receding in many
parts of the world. Arise of one degree per generation is a large increase. Nature seldom
moves as swiftly as this. We may have been helping her to a very large extent, the
temperature of the earth is determined by the amount of solar heat which the atmosphere can
keep. The air above us acts like the glass in a green house, trapping many of the heat
waveswhich would otherwise bounce back into space. Carbon dioxide (CO2) in the air is
mostly responsible for the ‘green house effect'. It is the gas produced by all our countless fires,
furnaces and internal combustion engine..

a) What determines the temperature of the earth?

b) What has happened as a result of the warming of the globe?

XI1. Answer the following question in about 8 — 10 sentences: 1x4=4
36. How does the poet’s grandmother asserts her right to reside in a tree?
OR
What glorious picture of our country does the poem ‘The song of India’ present?
OR
Write the summary of the poem”Ballad of the tempest” in your own words.

XI1.Write an essay on any one of the following : 1x4=4
37. (a) Newspaper (b) Water pollution (c) Save forests, save life

XIV. Write a letter using the information given below : 1x5=5
38. Imagine you are Anvesh/ Arpitha studying in Chennamma Highschool, Kittoor.
Write a letter to your friend telling her your plans for summer holidays.
OR
Write a letter to the Manager, Kokila Garments requesting him/her to supply free masks to
all the students in your school.
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I.The following questions are incomplete statements have four alternatives choose the
most appropriate answer and write it along with its alphabet. [8x1=8]

1. If the n'" term of an arithmetic progression is a,=2-2n, then its 10" term is

(A) 22 (B) 12 (C)-22 (D) -18
2. HCFof8and44is

(A)4 (B) 8 (C) 44 (D) 362

3. The pair of linear equations 3x +y =8 and ax + by=5 represents parallel lines, then the
value of ‘a’ and ‘b’ are

(A)2,1 (B) 3,1 (C)5,2 (D)1,3
4. The sum and product of zeros of the polynomial p(x)=2x*-6x + 8 are
(A)3,2 (B) 6, -8 (C)3,4 (D) -6, 8

5. The coordinates of the mid point of the line segment joining the points (0,5) and
(0,-5)is

(A) (0,5) (B) (10,0) (C) (0,10) (D) (0,0)

6. The ratio of the areas of two similar triangles are 9:64, then the ratio of their
corresponding sides is

(A) 3:8 (B) 8:3 (C) 9:64 (D) 64:9

7. Inthe figure ,PA and PB are tangents to the circle with centre 0. ZAOB =110°
The value of ZAPB is

(A) 100° (B) 55° (C) 70° (D) 80°



8. The total surface area of the solid Cylinder of radius ‘r’ and height ‘h’ is

(A) r*h (B) 2mr*h (C) 2mr(r+h) (D) 2mtrh

ll. Answer the following questions: [8x1=8]

9. How many solutions do the pair of linear equations has, if the lines represented by
them are intersect?

10. Find the number of zeroes in the graph of the polynomial y= P(x)

A

i

E

\j ?

~

11. Write the nature of roots for the quadratic equation having discriminant value O.
12. write prime factorisation form of ‘g’ in a rational number x = s.

13. The probability of an event ‘E’ is 0.65, then find the probability of not ’E’.

14. Write the formula to find the volume of a Frustrum .

15. State “Basic propotionality theorem”.

16.Write the distance of a coordinate P(x, y) from the origin.

Ill. Answer the following questions. [8x2=16]
17. Solve the given pair of linear equations.
X+2y=8
X—y=2
18. Find the roots of the quadratic equation 2x? + 3x - 3=0, using the 'quadratic formula'.
OR
Find the roots of the quadratic equation 6x + 2 =x? by the method of completing the
square.

19. Find the 15 term of the arithmetic progression 3, 8, 13, .................. using formula.



20. Prove that 2+V2 is an irrational number.

21. Draw acircle of radius 3.5 cm., construct a pair of tangents to the circle from a

point 9 cm away from its centre

22. Inthe figure, find tan A and tan(90° -A)
C

V5

A 1 B
23.In the AABC, D and E are the points on AB and AC respectively. DE||BC, AD=1.5 cm,
DB= 2.5 cm and AE = 5cm ,then find EC.

OR

In the given figure,2P = £RTS. Show that RS.RP =RT.RQ
R

P Q

24. Group of friends playing with cards bearing numbers 1 to 10. All the cards placed in a
box and are mixed thoroughly. What is the probability that the card withdrawn from
the box bears a prime number?

lll. Answer the following questions. [9x3=27]

25.Prove that, “The tangent at any point of a circle is perpendicular to the radius
through the point of contact”.
26.Divide the polynomial p(x)= 2x3- x? + 6x -10 by the polynomial g(x) =x+2. Find the

quotient g(x) and remainder.



27.Find the ‘mean’ for the following grouped data

Cl frequency
0-10 14
10-20 12
20-30 16
30-40 6
40-50 2
OR

The marks of students of class 10™" in mathematics test are given below. Find mode

for these marks .

Marks Frequency
0-20 6
20-40 12

40 - 60 10

60 - 80 9
80 - 100 7

28. Prove that, tan®A + cos?A -1=tan?A sin?A
OR

5 cos? 60° + 4 sec? 30° — tan? 45°

sin? 30° + cos? 30°

Evaluate:

29.Construct a triangle of sides 5.5 cm, 6 cm and 7 cm. Then construct another triangle

2
whose sides are 3 times the corrsponding sides of the given triangle.

30. In the figure O is the centre, PQ and AB are respectively the arcs of two concentric
circles of a radii 7 cm and 3.5 cm. If ZPOQ = 30°, then find the area of the shaded

region. [Use it = %].




In figure, ABCD is a square of side 6 cm. With centres A, B, C and D, four circles are drawn
such that each circle touch externally. Find the area of the shaded region.

31.The weights of 50 students of a class are given below. Draw a ‘more than’ type ogive
for the given data.

. Number of
Weight (Kg) Students

more than or equal to 38 50
more than or equal to 40 42
more than or equal to 42 25
more than or equal to 44 15
more than or equal to 46 10
more than or equal to 48

more than or equal to 50 3

32.Find the area of the triangle whose vertices are (0,6), (0, 0), (8, 0)

33.A shopkeeper buys a certain number of books for Rs.720. If the cost per book was Rs.5

less, the number of books that could be bought be 2 more. Find the cost of each book.
OR

The height of the triangle is 6cm more than its base. If the area of the triangle is

108 cm? then find the height and base of the triangle.
V. Answer the following questions. [4x4=16]

34.Prove that, “If in two triangles, corresponding angles are equal, then their
corresponding sides are in the same ratio (or proportion) and hence the two triangles
are similar”.

35.Find the solution of the given pair of linear equations by graphical method.
2x+y=6
X+y=5



36.From a point P on the ground the angle of elevation of the top of a 10 m tall building is
30°. A flag is hoisted at the top of the building and the angle of elevation of the top of
the flagstaff from P is 45°. Find the length of the flagstaff and the distance of the

building from the point P. (You may take v/3 = 1.732)

37. The 13th term of an Arithmetic Progression is four times its 3rd term. If its fifth term
is 16, then find the sum of its first 20 terms.
OR
Vijay ask the Labour to dig a well up to a depth of 50 meters. Labour charges Rs.300
for first meter and increases Rs.100 for each subsequesnt meters. Find the depth of
the well when the laborer is paid Rs. 2200? How much labour charges for digging 50
meters?
VI. Answer the following questions. [5x1=5]
38.A solid consistiong of a right circular cone of height 120 cm and radius 60 cm mounted
on a hemisphere of radius 60 cm. The solid is completely immersed in a right cicular
cylinder full of water. How much of water is left in the cylinder. If the inner radius of
the cylinder is 60 cm and its height is 180 cm.[1000 cm? = 1lt]

120 em

60 ¢

j[&——— 180 cm

60 cm

% 3% %k %k %k %
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. Four alternatives are given for each of the following questions/incomplete statements. Choose the
most appropriate one and write it along with its alphabet in your answer booklet. 8x1=8

1. If the n'" term of an A.P is 7 — 4n then the common difference is :
(@) 4 (b)-4 ()3 (d)-3
2. The lines representing the pair of linear equations 2x+3y-9 = 0 and 4x +6y -18=0 are :
(a) Intersecting lines  (b) Parallel lines (c) Coinciding lines (d) Perpendicular lines

3. Which of the following is not a quadratic equation ?
(a)x(x—1) =0 (b) x2-2x+1 (c) 4x="> (d) 3x-2 =
4. 72 and 28 can be expressed using Euclid’s division algorithm as :
(a) 28 = (72-16)2 (b) 72 = (28 x2)+16 (c) 72 = (28x2)-16 (d) 16 = 72-(28x2)

5. The formula to find the area of a sector with an angle 0 is :

0
3600

0
3600

0 0

o5 X 21 (c) 509 X 2nr? (d)

X mr? (b) X T

(a)
6. PA and PB are tangents to a circle from a point P If ZAPB = 80° then ZPOA=?

(a) 40° (b)100° (c)60° (d) 50°

7.1fsin A= % then the magnitude of angle A is :

(a) 90° (b) 60° (c) 30° (d) 45°

8. If the probability of winning a game is 0.995 then the probability of losing it is :
(a) 0.005 (b) O (c)2 (d) 0.05

Il Answer the following questions : 8x1=8

9. What is the value of 1—cos?A?

10. What is the sum of first 10 natural numbers ?

11. If a pair of linear equations are inconsistent then how many solutions they have?

12. Write the quadratic polynomial with sum of its zeroes 5 and product of zeroes 8.

13. The Volume of a cylinder is 120cm® . What is the volume of a cone with the same base and height?

14. State Pythagoras theorem.

15. Name the straight line which is perpendicular to a radius at the non-centered end of a circle.

16. What is the value of sin30° + cos60°

Il Answer the following questions 8x2=16

17. Construct two tangents to a circle of radius 4cm from a point 9cm away from its center.



18. Solve the pair of linear equations :

2x+3y=11
2x—4y =-24
19. Find the sum of first 20 terms of an A.P 5,8,11,....... using the formula.
OR
Find the 15t term of the AP 7,12,17 ......... using the formula.

20. Find the distance between the points (3, 1) and ( 6, 2) using distance formula.
21. Find the roots of the equation x? - 3x — 4 = 0 using quadratic formula.
OR
Find the discriminant of the quadratic equation 2x? - 6x + 3 = 0 and hence find the nature of roots.
22. A box contains 6 red 12white and 8 green balls. One ball is taken randomly. Find the probability
that it is not a red ball. A

23. In the given figure find the value of Cot C and sec A

B 1 ¢

24. In the given figure in triangle ABC, DE|| BC,IfAD=x+1,DB=x—1AE =x+ 3 and EC = x, find the

value of ‘X’ A

x+1 X+3

IV. Answer the following questions 9x3=27

25. Prove that the lengths of the tangents drawn from an external point are equal to each other.
26. Construct a triangle with sides 3cm, 4cm and 5cm. Then construct a similar triangle whose sides are 3

of the corresponding sides of the first triangle.

27. Draw a more than type Ogive for the following data :

Daily Income 100-120 120-140 140-160 160-180 180-200

No of 12 14 8 6 10
workers




28. Find the mean of the following data :

Class Interval 0-10 10-20 20-30 30-40 40-50
frequency 5 8 20 15 7
OR

Find the mode of the following data :

Class Interval 1-4 4-7 7-10 10-13 13-16
frequency 7 4 8 6 4
29. Find the quotient and remainder if p(x) = x3+ 5x? + 5x + 8 is divided by g(x) = x> + 3x — 2

OR
Find the zeroes of the polynomial p(x) = x2 +2x — 15 and hence verify the relationship between the
zeroes and co-efficients.
30. The altitude of a right triangle is 7cm less than its base. If the hypotenuse is 13cm, Find the other two
sides of the triangle.
OR
A train travelling with uniform speed for a journey of 360km would have taken 48minutes less to travel
the same distance if its speed was 5km/hr. more than before. Find the Original
speed of the train.
31. In the given figure the length of the arc AB is 8.8 cm if it subtends an angle of
72° at the center find the area of the shaded region.

32. If the points (1, 2), (4, y) (x, 6) and ( 3, 5) the vertices of a parallelogram taken in

A
order find the value of x” and ‘y’ . Also find the co-ordinates of the point of intersection of the

diagonals of ABCD
OR
Find the area of the triangle whose verticesare (2,3),(-1,0)and (2, -4)
33. Prove that v/2 is an irrational number.
V. Answer the following questions 4x4=16

34. Prove that if in two triangles , corresponding angles are equal ,then their corresponding sides are in
the same ratio(or proportion) and hence the two triangles are similar.
35. Solve the following pair of linear equations by graphical method :

X+y=7
3x—-y=1

36. A line segment is divided into 4 parts such that they are in A.P. If the sum of the 3™ and 4™ parts is
6times the sum of the first two parts, find the total length of the line segment.
OR

In an A.P the sum of first 11 terms is 44 and that of the next 11 terms is 55. Find the A.P



37. The angle of elevation of the top of a building under construction is 45° from a point which is 100m
away from its base. Find the height of the building to be raised such that the angle of elevation is 60°
when viewed from the same point.

45

VI. Answer the following question : 5x1=5

38. A water tank is in the shape of a hemisphere mounted on the frustum of a cone as shown in the figure.
The total height of the tank is 35m. The radius of the top and bottom of the tank are 7m and 14m
respectively. Find the total surface area of this tank. If the water in this tank is emptied into a cuboidal
tank with length 50m and breadth 25m What should be the height of the tank?

7m

35m

14m

3k 3k 3k 3k 3k 3k 3k 3k 3k >k 3k 3%k 3k 3k >k 3k %k %k %k %k *k %k
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:General Instructions to the Candidate :
1. This question paper consists of objective and subjective types of 38 questions.
2. Follow the instructions given against both the objective and subjective types of
questions.
3. The maximum time to answer the paper is given at the top of the question paper.
It includes 15 minutes for reading the question paper.

I. Four alternatives are given for each of the following questions/ incomplete statements.
Choose the correct alternative and write the complete answer along with its letter of
alphabet. 8x1=8
1. The H.C.F.of 31and 61 is
A) 1 B) 61 Q) 31 D) 92
2. Inaclass, ‘The number of boys (x) are8 more than girls(y)’ . The equation for the
statement is
A) x = 8y B) x—y=8 C)y-x=8 D)x+y=38
3. Thefirst and last term of an arithmetic progression is 5 and 45 then the sum of its frist

25term s
A) 525 B) 625 C) -625 D) -525
4. The degree of the polynomial p(x) = x*-3x3+2is
A)1 B) 2 O 3 D)0
5. The formula to find Volume of a frustum of cone is
AV = %nh(rl2 +r22) cubic unit B)V = %nh(rl2 - r2%) cubic unit
C)V = %nh(rl2 +r,2 +r1r2) cubic unit D) V = 3mh(ri? +r%+r1r2) cubic unit

6. The Discriminant of the quadratic equation 2x?- 5x + 2=0 is
A) 3 B) -6 09 D) -9
7. In A ABC,LBAC =90° and AD is the altitude, D 5¢m
If BC =5cm, BD = 4cm then the length of AB is :N
A) 3v2cm  B) 2V5cm C) 5V2cm D) 2V3cem A E

8. In the adjoining figure, AABE ~ACDE, £B = 4D then '2—5 is

AB BE BE AE
N B) = Q- D) = €

CE



Il. Answer the following questions
9. Express denominator of i—i in the form of 2" X 5™

10. In the given graph, find the number of zeros of polynomial y = p(x).

11.If tanf = 1% then what is the value of cot#.

12. In the given figure, the radius of sector is 21cm and angle is 60°
find the length of sector arch AB

13. A solid cylinder of radius 14 cm and height 21cm then find its lateral surface area
of a solid cylinder.

14.Tha probability that it will rain on a particular day is 0.64 then c
find the probability that it will not rain on that day. X
15. In the adjoining figure XY| |BC, AX = P-3, BX =3 and ?—: = g then B "

3cm X p-3

find the value of 'p’

P
16. If TP and TQ are the tangents of a circle with centre ‘O’ .
Then find m LPTQ Q
.

lll. Answer the following questions. 8x2=16
17. Prove that 2 —+/3 is irrational.

OR
Find the LCM of 12, 15, and 21 by prime factorisation method.

18.Solve the following given pair of linear equations
2x +y =7 and 3x +2y =11

19. Find the 23" term of an Arithmetic progression 5, 8, 11, 14, ........
20. Solve the quadratic equation 3x%? - 7x- 2 = 0 using quadratic formula.

OR
Find the roots of the quadratic equation 4t?- 7t - 2 = 0 by completing the
square method. A
21.In a given figureLABC =90° find (i) sin 4 (ii) tan C 25




22.

23.

24,

Find the distance between the points A(3, 2) and B( 6, 6) using formula

If ‘A’ is an event of a random experiment such that P(A): P(A)= 6:15

then

find P(A) and P(A)

Construct a pair of tangents to a circle of radius 3.5cm from a point 8cm away

from the centre of circle.

IV. Answer the following questions
25.0ne of the zeros of polynomial p(x) = x3 + 2x2 —5x — 6 is 2 find remaining

zeros of p(x).

26.Find the * mean’ for the following grouped data.

9x3=27

Class-Interval 0-10 10-20 20-30 30-40 40-50 50-60
Frequencey 2 5 9 14 7
OR
Find the ‘mode’ for the following grouped data.
Class-Interval 15-25 25-35 35-45 45-55 55-65 65-75
Frequencey 6 10 15 12 7

27.The following data represent the daily savings of 70 workers in a factory .
Draw ‘less than type’ ogive for the given data.

Daily savings 100-150 | 150-200 | 200-250 | 250-300 | 300-350 | 350-400
[Rupees]
Number of workers 4 8 14 20 18 6

28. Construct a triangle of sides 5cm, 7 cm and 6 cm. Then construct another triangle
. 3 . o : :
whose sides are < times the corresponding sides of the given triangle.

29.Prove that “The tangent at any point of a circle is perpendicular to the radius through

30.

31.

32.

the point of contact”.
In the given figure, AOB is a sector of angle 60° of a circle with centre
O and radius 17cm. If APLOB and AP=15cm, find the area of the
shaded region.
Prove that (sin A+cosecA)*+ (cos A+secA)? = 7 +tan?A + cot?A.
OR

2sin(90°-60°)+tan45%+cosec(90°-60°)

sin90°+\/%tan(900—300)+cosec30°

Evaluate:

A(0, 13)

C(8,5)
In a triangle AABC vertices are A(0,13), B(4,1) & C(8,5) in whichBD is a
median as shown in the figure . Find the area of triangle AABD ?
OR
Find the value of x which coordinates of the point which divides the line segment

B (4, 1)

joining the points A(x, 7)and B(—6, 2)intheratio 3: 2 internally at the
point P(—2,4).



33. From the top of the 100m height building angle of elevation of flying
kite is 30° as shown in the figure.From the foot of the building 90m
distance a kite is visible 90° above the ground.Find the length of i
string and also find the height of the kite from ground level? 100m;

b4— —
O R 90m

A bird is sitting on the top of a80 m high tree. From a
point on the ground, the angle of elevation of thebird is 45°.
The bird flies away horizontally in such a way that it remained
at a constant height from the ground. After 2 seconds, the 80
angle of elevation of the bird from the same point is 30°.
Find the speed of flying of the bird. (Take v/3= 1.73)
V. Answer the following questions.
34.Find the solution of the given pair of linear equations by graphical method.
x+y=>5
2x+y =28
35.1n an arithmetic progression sum of 10" and 18" term is 88. Find the difference
between sum of first 19 terms and sum of first 8 terms by using suitable formula?
OR
In an arithmetic progression 10" term is more than 24 of its 6" term and 15" term
is 87. Find the arithmetic progression also find the sum of first 21 terms by using
formula.

L 4
m

w)

36. In a given figure shows a toy made by metal sheet. Its lower part is a
hemisphere and the upper part is a cone. Area of metal sheet used to
make hemisphere part is 308cm? and also height of the toy is 31cm. Find
thevolume of toy.?

31cm

37.A motor boat whose speed is 18 km/h in still water takes 1 hour more to go 24 km

upstream than to return downstream to the same spot. Find the speed of the stream.
VI. Answer the following question. 1x5=5
38.State and Prove Pythagoras theorem.

%k %k %k %k *k k
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PART A - PHYSICS

l. Four alternatives are given for each of the following uestions/incomplete
Statements. Choose the correct alternative and write the complete answer

Along
with its letter of alphabet. 3x1=3
1. Which of the following device, that converts mechanical energy into electrical
energy?
A) Dynamo B) Motor C) Transformer D) Resistor

2. Accordnig to Ohm’s law the relation between potential difference (V) and
current (I)
IS :
A)V a2 B.Va- C.V2al D.Val

3. The image shows the path of incident rays to a concave mirror,

Object J
- >

~——
~——
~—
~—
~—

Where would the reflected rays meet for the image formation to take place?

(a) Behind the mirror (b) Between F and O
(c) Between C and F (d) Beyond C
1. Answer the Following. 3X1=3

4. What is the range of vision for a normal human eye?
5. How can you convert an A.C. into a D.C. generator?

6.. Which mirror can form a real image of an object?




I11. Answer the Following. 2X2=4

7. Draw a schematic diagram of an electric circuit consisting of a battery
resistors R1, R2 and R3 and a plug key, all are connected in series.
8. A candle flame placed at a distance of 30cm from a concave mirror and
itsimage is formed on a screen placed in front of the mirror at a distance
of 60 cm fromits pole. Find the focal length of the mirror.
OR

A 5cm tall object is placed perpendicular to the principal axis of a convex lens

of focal length 10 cm. The distance of the object from the lens is 15 cm. Find

the nature, position and size of the image. Also find its magnification

IV. Answer the Following.. 3X3=9

9. Name two energy sources that you would consider to be renewable. Give
reasons for your choices.
OR
What is nuclear energy. Nuclear power is an excellent non-conventional source of
energy. Still it is not used commonly for power generation. Why? State three
reasons.
10.(A) Draw a ray diagram to show the formation of image by a convex lens,
when an object is placed beyond centre of curvature of the lens on principal
axis.Mention the nature of image feormed
11 (A) Fuse acts like a watchman in an electric circuit. Justify this statement.
(B) Give reason: In household circuit, parallel combination of resistances is
used.
OR
A current carrying conductor is placed in a magnetic field. Now answer the
following.
(i) List two factors on which the magnitude of force experienced by conductor




depends.
(if) When is the magnitude of this force maximum?

(iii) State the rule which helps, in finding the direction of motion of conductor.
V Answer the Following.. 1X4=4

12.(a) Define resistance of a conductor.
(b) State the factors on which resistance of a conductor depends.
(c) Name the device which is often used to change the resistance without
changing
the voltage source in an electric circuit.

(d) Why are alloys commonly used in electrical heating devices ? Give reason

VI Answer the Following. 1X5=5

13. a) What is meant by ‘refraction of light’
b) Define Snell’s laws of refraction.
C) When a light ray passes from air into glass, what happens to its
speed?
d) Chethana used a lens to see her thin lines in the palm. What type of lens she
used. If the focal length of this lens is 10 cm .Where should she place/hold the

Lens so as to have a real and magnified image of lines of the palm?

PART B — Chemistry

V1. Four alternatives are given for each of the following uestions/incomplete

Statements. Choose the correct alternative and write the complete answer

Along with its letter of alphabet. 3x1=3

14.The acid present in Tomato.
a) acetic acid b) tartaric acid

¢) oxalic acid c) lactic acid




15. Which of the pairs represent displacement reactions in the following
a) NaCl solution with copper b)MgCl2 solution with aluminum
c) FeSOa4 solution with silver d) AgNOs3 solution with copper

16 Element X forms a chloride with the formula XCl2 which is a solid with a high
melting point . X would most likely be in the same group of the periodic

table as
a) Na b) Mg c) Al d) Si
VIII. Answer the following questions 3x1=3

17. In the electrolysis of water, name the gases liberated at cathode and anode.

18. In the given three test tubes, identify the test tube in which the ion nail gets
rusted.

19. Name the gas used in preserving packed food that contains oils or fats.

IX Answer the Following. 2X3=6
20. Differentiate exothermic and endothermic reactions with examples for each.
21. List the uses of the following

a) Bleaching powder
b) Plaster of paris

22. What are detergent how are soaps different from detergents.

X Answer the Following. 3X3=9

23. Draw diagram showing the action of steam on a metal and label hydrogen gas
and metal sample.

24 a. What are Amphoteric Oxides?

b. Does Ferrous sulphate react with Zinc? If yes represent it with a balanced
chemical equation .

OR
a) Inthe refining of metals, what does roasting represent ?
b) Metals towards the top of the activity series cannot be obtained from their
compounds by heating with carbon .Why

25. a) Write the limitations of Newlands law of Octaves.




b) What are the limitations of MendeleeV’s periodic classification ? How did
Hendry Moseley modify the modern periodic table.

OR

a) Name the metals found among the first 10 elements of the modern periodic
table.

b) Find the group and period of an element whose atomic number is 17.

XI Answer the Following. 4X1=4

26. a) What are homologous series? Write the names and their chemical formulae
of  the first two hydrocarbon compounds having the formula CnH2n+2.

b) Explain substitution reaction with an example.

OR
a) What are functional groups. Write the functional groups of propanal and
ethanoic acid.
b) Write the molecular and structural formula for butane and benzene.

PART C — BIOLOGY

Xll.Four alternatives are given for each of the following uestions/incomplete
Statements. Choose the correct alternative and write the complete answer
Along with its letter of alphabet. 2x1=2
27. The growth of pollen tubes towards ovules is an example for the following
type of tropism .
a) Hydrotropism b)chemotropism c) phototropism d) geotropism
28. The correct sequence of sexual reproduction in higher plants is
a) Pollination, germination , gamete formation , fertilization.
b) Gamete formation, pollination, fertilization , formation of seed.
c) Fertilization, formation of seeds, pollination , gamete formation .
d) Fertilization, formation of seeds, gamete formation pollination,

Xl Answer the following questions 2x1=2
29. Which are the excretory products in plants?

30. List the compounds that deplete ozone layer.

XIVAnswer the following questions 3x2=6
31. Differentiate between transpiration and translocation.




OR

What is double circulation? Write its significance.
32. Why do we need to use our resources carefully ? Among the 5R’s which
one is better Reuse or Recycle ? Justify your statement.
33. Draw the Excretory system in human being and label
a) Left kidney  b) urinary bladder.
XV. Answer the following questions 3x3=9
34 Write balanced chemical equation for photosynthesis and the events that take
place during photosynthesis.
35. A pea plant with round green (RRyy) pea seed is crossed with another pea
plant with wrinkled yellow (rrYY) seeds.
a) What would be the nature of seeds in the F1 generation ?
b) Write the nature of the traits in the F2 generation using checker board, and
also write the ratio obtained .
Or
a) What are Fossils?
b) Explain the methods of studying Fossils.
36 Give reasons for the following.
a) Oxygenated and deoxygenated blood is prevented from mixing in birds and
mammals.
b) The rate of breathing in aquatic organisms is much faster than that seen in
terrestrial organisms.
c) Ventricles have thicker muscular walls than the atria do.

XVI. Answer the following questions 2x4=8
37. Given below is the structure of human elementary canal. Identify the parts
labelled as X and Y and also mention their functions.

]

38. Draw a Diagram of the front view of human heart and label the following
parts.
a) Aorta b) Left ventricle.
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PART -A Physics

I. Four alternatives are given for each of the following questions/incomplete
Statements. Choose the correct alternative and write the complete answer

Along with its letter of alphabet. 3x1=3

1. The Sl unit of Resistanceis ........................
a) A b) Q ) d)Vv

2. The Current produced in the generator will be maximum when the angle between the
magnetic field and the rectangular coilis ............................

a) 45° b) 0° c) 900 d) 180°
3. Which among the following elements under goes Nuclear fusion...................
a) Uranium b) Helium c¢) Plutonium d) Thorium
Il . Answer the Following. 3X1=3

4. |dentify the electrical instruments X’ and “Y’ connected in the circuit .

| ©

N
VX :
- Resistance
-
¥
<«—Connecting wire
+ —
-« I | <

Cell |
5. The Resistors of 20, 3Q) and 50 are connected in series . Find the net resistance of the
circuit.
6. Write the position of object if the image formed in the concave mirror is virtual and
erect

I1l. Answer the Following. 2x3=6

~

Write any two characteristic of good fuel.
8. Sun appears to be red and bigger in size during sun set . Why?
OR

Write any to differences between Shortsightedness and Longsightedness

9. Draw the diagram of electric motor.

IV. Answer the Following.. 4X3=12

10. Write the role of wires insulated by red , black and green colour insulator in domestic
wiring.



OR
Differentiate between electrical generator and electrical motor.

11.Draw the ray diagram of image formation in concave mirror when the object was
placed at centre of curvature. Write the nature of the image .
OR

Draw the ray diagram of image formation in convex lens when the object is placed
between principal focus and centre of curvature. Write the nature of image.

12. Write the function of the following parts of human eye
a) Eyelens b) Pupil c) Optical nerve
13.The focal length of a converging lens is 25cm. The object of 10cm height is placed at
the 40cm distance from the lens. Find the distance of image formed from the lens
and magnification. Write the nature of the image.

V Answer the Following.. 1X4=4

14.1) Write the scientific reason for the following
a) An alloy is used in manufacturing of an electric water heater rather than a
metal.
b) In domestic wiring the electrical gadgets are used in parallel connection.

Il) The power consumption of an electrical oven is 440W. Calculate the electric
current and resistance of oven when it is connected in the circuit having potential
difference of 220V.

PART -B CHEMISTRY
V1. Four alternatives are given for each of the following uestions/incomplete

Statements. Choose the correct alternative and write the complete answer
Along with its letter of alphabet. 3x1=3

15) Identify the compounds that are oxidized and that are reduced in the following
reaction in an order.

a) HCI and MnO2 b) MnO2and HCI.

c) MnCl2 and Cl2 d) MnClz2 and H20.

16) Identify the carbon compound that is used in medicines such as tincture, iodine,
cough syrups and many other tonics.

a) ethanoic acid b) ethanol
b) benzene d) propanol



VIII. Answer the following questions 3x1=3

17) What happens in the temperature when CaO is treated with H20 in a beaker. Name
the type of reaction.

18) The elements X, Y, Z placed in the order of triads in the periodic table, the mass

number element Y is 20 and mass humber of Z is 30 . Find the mass number of X.

VIII Answer the Following. 2X3=6

19) Write a balanced chemical equation representing the displacement of
copper with silver nitrate solution. Name the metal that is more reactive.
OR
Draw diagram showing acidic solution in water conducts electricity.
and label a) rubber Cork b) battery.
20) Represent electrolytic refining of copper with a diagram . Identify

and label the electrode on which copper gets deposited?

IX Answer the Following. 3X3=9

21) Give scientific reasons for the following :-

a) Platinum, gold are used to make jewellery.

b) Aluminium is a highly reactive meta, yet it is used to make utensils for cooking.
OR

a) Solder is used in welding electrical wires together.

b) Silver articles become black after some time when exposed to air.

22) a) State Mendeleev’s periodic law.

c) Inthe modern periodic table the atomic numbers of the elements A, B, Cand D
are 3,11, 19 and 20 simultaneously. Name the elements with
a) Minimum atomic size and b) Maximum metallic character.

X. Answer the Following. 4X1=4

23). What is Chlor-alkali process? Name the products produced from this process. List
the uses of the by-products.

24) .a) Write the electron dot formula for the following compounds.
i) Ethene ii) Methane
25). Write the molecular and structural formula for alkane alkene and alkyne

for a hydrocarbon with three carbon atoms.



PART C - BIOLOGY

Xl.Four alternatives are given for each of the following uestions/incomplete
Statements. Choose the correct alternative and write the complete answer
Along with its letter of alphabet. 1x3=3
26) A gland not associated with the alimentary canalis_

a) liver b) salivary glands
c) pancreas d) adrenal

27) A student accidentally places her hand on a flame of candle and quickly
pulls her hand away. The flame represents
a) aresponse b) stimulus
b) animpulse c) an effector

28) Phenotypic ratio in F; generation in dihybrid cross is

a) 3:1 b) 9:3:3:1
b) 1:2:1 d) 2:1
XIl. Answer the following questions in one sentence. 3x1=3

29) Name the substance that trigger the fall of mature leaves and fruits
in a plant.
30) What is variation?

31) Identify the two parts labelled by arrow marks and write its function.

ey

Xlll. Answer the following questions in Two/Three sentence. 2x2=4
32) What is multiple fission? Give its one example.
OR
What is Fertilization? In which part fertilization occur in female reproductive system?

33) Government of India is imposing ban on the single use of polythene bags
give reasons.



XIV. Answer the following questions in Four/Five sentence. 3x3=9
34) What is placenta ? Describe its role during pregnancy.
35) Explain Mendel’s dihybrid ratio with a checker board showing tall plant with a

red flower ( TTRR ) and short plant with white flower ( ttrr )
36) a) What is environmental pollution?
b) Distinguish between biodegradable and non- biodegradable pollutants.
c) Choose the bio-degradable pollutants from the list given below

Sewage, DDT ,radioactive waste, agricultural waste .
XV. Answer the following question 4x2=8

37) a) Draw a neat diagram of the front view of human heart and label
The following parts.
a) Left ventricle b) septum  c) aorta.

b) Why do the walls of the ventricles have thicker muscular walls when
compared to atria ?

38 a)What are plant hormones?

b) How is the movement of leaves of the sensitive plant different
from the movement of a shoot towards light ?
c) Give an example of a plant hormone that promotes growth.
d)How do auxins promote the growth of a tendril around a support?

OR

a) What is reflex action? Give one example
b) Name the parts involved reflex arc.

3k 3k %k 3k 3k >k 5k %k 3k %k >k %k %k 5k %k %k %k %k %k k k
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PART -A
PHYSICS

L. Four alternatives are given for each of the following questions / incomplete statements.
Choose the correct alternative and write the complete answer along with its letter of
alphabet. 2x1=2

1. Tyndall effect means

A) phenomenon of light scattering by colloidal matter

B) phenomenon of the sun appearing 2 minutes before actual sunrise

C) phenomenon of change in speed of light due to change of medium

D) phenomenon of light incident on an object returning to the medium through which it traveled

2. Electrical resistance when observed through this graph is

#1001 f
A) 20 Q B)2Q C) 160 Q D)40Q : |
' 80 i
5
1108 6 ) |
g | |
=10 : |
R | | |
1 " ! {
' : |
ISR S na
"""" 1{ampererive) ~ 7" 777
IT Answer the following questions 3x1=3
3. What type of lens is used to correct short sight vision?
4. State the working principle of electric motor.
5. State Snell's law of refraction of light.
III Answer the following questions 3x2=6

6. List any 2 factors on which the resistance of a conducting wire depends.
7. How do you apply the right-hand rule of thumb to identify the direction of current flowing in a
conductor and the direction of magnetic field lines?

Or



How do you increase the amount of electricity induced in an electric generator?
8. Draw a ray diagram of the image formed by the mirror when an object is kept in between C and F,
and mark the position of the image. ( C-Centre of curvature & F- Principal focus of the mirror)
IV Answer the following questions 3x3=9
9. What is the function of a fuse? Mention any 2 precautionary measures that can be taken to avoid
overloading in electric circuits.
Or
What is a solenoid? Write any 2 properties of magnetic field lines around a magnet.
10. "Hydrogen fuel is better than compressed natural gas”. Justify this statement and list any 4
qualities of an ideal form of energy.
11. Draw a diagram of human eye and name the following parts.

a) Pupil b) Cornea and c) Retina and d) Crystalline lens

V Answer the following questions 2x4=8
12. a) The power of the lens in the spectacles worn by a person is -2.5D. Find the focal length of that
lens and name the type of lens.
b) State any 2 differences between convex lens and concave lenses.

Or
A concave lens has a focal length of 12cm. At what distance should the object from the lens be placed
so that it forms an image at 8cm from the lens? Also find the magnification produced by the lens.
13. In a circuit consisting of a 6V battery three resistors of 10Q, 20Q and 30Q are connected in
parallel, draw a diagram showing this arrangement connected in series with a plug key and an
ammeter and find the value of the following.
(A) Current flowing through each resistor

(B) Total current in the circuit



(C) Total resistance of the circuit.

PART B - CHEMISTRY

VI. Choose and write the appropriate answer to the
3x1=3

14. Which of the statements about the reaction below are incorrect?
2PbO+C —-—mmm- > 2 Pb+ CO2
a) lead is getting reduced b) Carbon dioxide is getting oxidized
c) Carbon is getting oxidized d) lead oxide is getting reduced.
iJaandb ii)a and c iii) a, bandc iv) Allof the above
15. Butanone is a four carbon compound with the functional group
a. carboxylic acid b) aldehyde c) Ketone d)alcohol
16. The metallic character of elements as they move from left to right of a
period in the modern periodic table is

a. Decreases b) Increases
c) No changes d) decreases first and then increases
VII. Answer the following questions in one word or sentence. 3x1=3

17. What is Rancidity?
18. Name the following electron dot structure.

e
)= (1

19. Define Newland law of Octaves.

(]

VIII. Answer the following in 2-3 Sentence 3x2=6
20. Draw a neat Diagram of the arrangement of apparatus to show that

following



acid solution in water conducts electricity.
21. Give Reason
a. Metals are used in making cooking vessels.
b. Sodium metal is stored in kerosene.

22. How could the Modern periodic table remove various anomalies
of Mendeleeve’s periodic table?

OR

An Atom has electronic configuration 2,8,7
a. What is the atomic number of this element.
b. To which of the following elements would it be chemically similar?
( Atomic number- N=7 F=9 P=15 Ar=18)

IX. Answer the following questions. 3x3=9

23. Draw a neat and labelled diagram of the arrangement of apparatus to
show the action of steam on a metal.

24. Explain the three types of Decomposition reactions with example.

25. Give two important uses of washing soda and plaster of Paris.

OR
Explain Chlor-Alkali Process.
X. Answer the following questions. 1x4=4
26. a) what are structural isomers? Write the molecular and structural
formula of butane.
b) what is catenation? Write the general Formula for alkenes.

PART C - BIOLOGY

Xl. Select and write the most appropriate option out of the four options for each of
the questions:- 1x3=3

*Which one of the following juices secreted in the human body does not contain any
enzyme.?

a) salivary juice b) bile juice



b) gastric juice d) pancreatic juice.
*|dentify the disease which is caused by a virus.
a) syphilis b) genital warts
c) gonorrhea d) both (a) and (c)
*If pea plants having round green and wrinkled ,yellow seeds are crossed , What
phenotype ratio will be obtained in F2 progeny plants ?

a) 1:2:1 b)3:1
c) 9:3:3:1 d)9o:3:4

Xll. Answer the following questions in one word or sentence. 1x2=2
30. Give an example of a plant hormone that promotes growth.
31. What is Variation ?
XIII. Answer the following questions 2x2=4
a) Label (1) and (2) in the given diagram showing sex determination in human beings.

e D) If a child inherits X chromosome from the father , What will be his/her
gender?

32.What is Ozone layer ? How is ozone layer getting depleted ?
XIV. Answer the following questions. 3x3=9
33.Identify A, B and Cin the given diagram and Write one function of each.



34.What are fossils ? How do we know how old the fossils are ?
OR
Why are Human beings who look so different from each other in termsof
size, colour, and looks said to belong to the same species ?
35.List 5 R’s. Explain any two of them.
OR

Explain social,Economical and environmental problems due to build of large
Dames.

XV. Answer the following questions. 1x4=4

36.i) Draw a neat diagram of Human Brain and label the following parts
a) Cerebrum b) Medulla c) Pons

ii) Mention any two functions of cerebellum.

XVI. Answer the following questions. 1x5=5

(a) Name the process and explain the type of nutrition found in green plants. .List the

raw materials required for this process. Give chemical equation for the mentioned
process .

(b) Write the events that occur during this process.
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I. Four choices are given for each of the following questions / incomplete
statements. Choose the correct answer and write the complete answer along
with its letter of alphabet. 8X1=8

1. The most important democratic movement that was carried out in post-

independence India was
A) Freedom struggle B) The movement for linguistic formation of states

C) Environmental movement D) The movement of formers

2. The first-ever nuclear bomb on Hiroshima and Nagasaki of Japan in 1945 was

thrown by
A) Russia B) Germany
C) Italy D) America
3. The Existing body to control corruption in Karnataka is
A) Lokayukta B) Lokpal
C) Human Rights Commission D) Women's Commission

4. The ‘Child Labour Prohibition and Control Act enacted in the year
A) 1961 B) 1976 C) 1986 D) 1993
5. It is called as ‘Black Diamond’.

A) Mica B) Iron ore C) Manganese ore D) Coal

6. The industry which known as basic industry is
A) Iron and steel industry B) Cotton Textile industry
C) Paper industry D) Sugar industry

7. The Father of Green Revolution in India is
A) Dr. Norman Borlaug B) Dr. MS Swaminathan
C) Sir. M Visvesvaraya D) Dr. B.R. Ambedkar

8. The king of the market is
A) Merchant B) Producer C) Agent D) Consumer

II. Answer the following questions in a sentence each. 8 x 1=8

9. Mahatma Gandhi took to fast in Calcutta, reading the Bhagavat Gita. Why?

10. What was the immediate cause for the World War I?

11. Which country helped to the Tashkent agreement between India and Pakistan?
12. What is Riot?

13. Who are the child labourers?

14. What is the reason for abrupt floods in the Himalayan mountains?

15. What are economic fluctuations?




16. A person owns a car worth 15 lakhs. Although there are some problems with that
car, the company is not responding properly. Then to which forum/commission
should the person complain?

III. Answer the following questions in two to four sentences or points. 8 x2=16

17. How did trade take place between India and Europe during middle age?
18. What were the states that conquered by the British due to the Doctrine of
lapse Policy?
19. What are the reasons for the tension between India and Pakistan?
OR
Explain the struggle lead by India the implementation of human rights.
20. Explain the nature of discrimination in labour.
OR
Explain about the Appiko movement that took place in Karnataka.
21. The eastern part of the Western Ghats is a rain shadow area. Substantiate.
22, How are flood canals different from perennial canals?
23. Name the major housing programs that implemented to provide house to the
homeless.
24. Entrepreneurship is a creative activity. Why?
IV. Answer the following questions in six sentences or points. 9 x 3=27
25. What were the factors that motivated the Europeans to find a new sea route
to India?
OR
What were the conditions under Subsidiary Alliance system?
26. What are the impacts of British land tax system in India?
27. The 19th century in Indian history is referred to as the period of 'Indian
renaissance'. Justify.
28. Mention the plans to solve the population problem.
29. In recent days untouchability is dying down. Justify.
30. Mention the differences between the Eastern Ghats and the Western Ghats.
31. How can we prevent soil erosion?
OR
The area of forests in India has been continuously declining recently. Why?
32. Rural development is supplementary to the economic development of the
country. Justify.
OR
How is public finance different from personal finance?
33. What are the functions of a bank?
OR

What are the information in the complaint filed by the consumer court?
V. Answer each of the following questions in eight sentences or paragraphs.4x4=16

34. State the achievements of Krishnaraja Wodiyar IV.

35. State the political and economic factors that led to the First War of Indian
Independence in 1857.

OR

Explain the role of Subhash Chandra Bose in the freedom struggle of India.

36. Explain the structure and the functions of the General Assembly of the
United Nations.

37. List out the factors that influencing the land use in India.

VI. 38. Draw a map of India and mark the following on it. 1+4=5

A) Kaiga B) Digboi of Assam

C) Ahmedabad D) Davanagere
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I. Four choices are given for each of the following questions / incomplete
statements. Choose the correct answer and write the complete answer along
with its letter of alphabet. 8X1=8
1. The civil service system was introduced by
A) Lord Wellesley B) Lord Dalhousie
C) Lord Cornwallis D) Lord William Bentinck
2. The correct group of the countries of Triple Entente is
A) Germany, Austria-Hungary, Italy B) Britain, France, Russia
C) America, Germany, Italy D) Britain, America, Germany
3. India and other countries need to find a way out of ‘Definitive Destruction’
staring at the humanity. Here ‘definitive Destruction’ means
A) Economic Inequality B) Terrorism
C) Race of Armaments D) Colonialism
4. An artist painting a picture for his own satisfaction is an example for
A) Paid Work B) Unpaid Work
C) Division of Labour D) Discrimination in Labour
5. The Wonder Metal of the 20th century is
A) Manganese B) Mica
C) Iron D) Aluminium
6. Another devastating disaster caused by an earthquake is
A) Tsunami B) Volcano
C) Flood D) Storm
7. The Central budget placed in the Lok Sabha by the
A) Finance Minister B) President
C) Prime Minister D) Vice President
8. The world consumer day celebrated every year on
A) January 15 B) February 15
C) March 15 D) April 15
II. Answer the following questions in a sentence each: 8x1=8
9. What was the main aim of Charter Acts?

10. What was the reason for the Great Economic Depression of 1930?

11. What is disarmament?

12. Why has Equal wages act enacted in 19767
13. Who led Chipko movement?
14.The Government of India established the National Highways Authority in 1989.

Why?

15. What is rural development?

16. Consumer protection is very important. Why?




III. Answer the following questions in two to four sentences each: 8x2=16
17.Explain the reasons for the First Anglo-Maratha War.
18. Name the important societies which worked for the reformation of Indian society.
19. Describe the relationship between India and America.
OR
State the main problems faced after the Second World War.
20. What are the problems of untouchability?
OR
Explain the importance of Women Self Help Groups.
21.India is a subcontinent. Substantiate.
22.How are the two branches of southwest monsoon winds different from each other?
23. Name the four types of direct taxes.
24. What are the services provided by District Industrial Centres to Entrepreneurs?
IV. Answer the following questions in six sentences / points each: 9x3=27
25. What were the results of the Battle of Buxar?
26. List out the effects of British education in India.
OR
How did Dondiya Wagh fight against the British?
27.The First War of Indian Independence brought revolutionary changes in the
British administration and Indian freedom struggle. Substantiate.
28. Explain the aims of the United Nations Organizations.
29.The Government had undertaken many measures to eradicate child labour.
Justify the statement.
30. What are the causes of soil erosion?
31. Rain water harvesting is mandatory today. Why?
OR
Horticulture has progressed very well in India in recent years. Justify.
32. Government intervention in the economy of developing nations is inevitable.
Justify.
OR
[lustrate the role of Panchayat Raj Institutions in rural development with suitable
examples.
33. List out the characteristics of banks.
OR
List out the characteristics of an entrepreneur.
V. Answer the following questions in about eight sentences each: 4x4=16
34. Explain the method adopted by Sangolli Rayanna to fight against the British.
OR
Explain the role of extremists in the freedom struggle of India.
35. The integration of Kashmir with Indian union is unique compared to other
provinces. How?
36. What are the measures undertaken by the government to improve the status of
women in India?
37.What are your suggestions to the conservation of forests?
VI. 38.Draw an outline map of India and mark the following: 1+4=5
A) Narora B) Hatti of Raichur
C) Nadaprabhu Kempe Gowda International Airport D) Bhopal
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I. Four choices are given for each of the following questions / incomplete

II.

statements. Choose the correct answer and write the complete answer along

with its letter of alphabet. 8X1=8
. The main reason for Francisco de Almeida implemented ‘blue water policy’
was
A) To establish supremacy over land B) To establish supremacy over sea
C) To conquer Goa D) To defeat the sultan of Bijapur
. Teen murti bhavan located at
A) Delhi B) Bangalore
C) Kolkata D) Mumbai
. The organ of the United Nations which functions like a global parliament is
A) Secretariat B) General Assembly
C) Trusteeship Council D) Security Council

. Narmada movement was led by

A) Sundar Lal Bahuguna and Chandi Prasad Bhat
B) Medha Patkar and Baba Amte

C) Shivaram Karanth

D) Kerala Sahidya Parishad

. India became signatory of Child Rights Convention of the UN in

A) 1992 B) 1994 C) 1945 D) 1948
. This natural disaster can be prevented by growing mangrove forests along
coast
A) Landslide B) Coastal Erosion
C) Earthquake D) Cyclone

. ‘Development of its villages is the true development of India’ this statement

was said by

A) Mahatma Gandhi B) Dadabai Navoroji
C) Dr B. R Ambedkar D) Swami Vivekananda
. If compensation exceeds more than one crore, the compliant should lodge in
A) District Forum B) State Commission
C) National Commission D) Supreme Court
Answer the following questions in a sentence each. 8x1=8

9. When was the Dutch East India Company established in India?

10. What is cold war?

11. Where is the head quarter of international court of justice located?
12. Why was the Silent Valley movement conducted?

13. Which soil is formed from the weathering of igneous rock?

14. What is Tsunami?

15. What do you mean by Economic Planning?

16. Consumer protection is essential today. Why?




III. Answer the following questions in two of four sentences each. 8x2=16
17. Mention the outcomes of the battle of Plassey.
18. State the reasons for the first Anglo-Maratha war.
19. Explain the relationship between India and Russia.
OR
Explain the measures undertaken by India to eradicate economic inequality.
20. List out the reasons for unemployment.
OR
Mention the reasons for agitation against Kaiga.
21. Explain the economic importance of the peninsular plateau.
22. 'Rain water harvesting is compulsory today’. Why?
23. “Women are achieving progress politically”. Illustrate with examples.

24. Name any four business organizations that entrepreneurs can set up.

IV. Answer the following questions in six sentences/points each. 9x3=27
25. Analyze the judicial system organized by the British through the East India
Company.
OR

Chikkadevaraja Wodiyar was an efficient soldier and administrator.
26. Analyze how administrative factors contributed to India's first war of independence
27. Explain the reforms advocated by the Satyashodhak Samaj.
28. What are your suggestions to control smuggling?

29. Explain the nature of discrimination in labour.

30. What are the factors influencing the location of industries?

OR
What are the precautionary measures that can be taken during cyclones?

31. Explain the importance of communication.

32. Explain Gandhiji’s concept of ‘Grama swarajya’ in the light of decentralization.
OR

Explain the aspects of non-tax revenue of the Central government

33. Describe the procedures to open a bank account.

OR
Explain the role of entrepreneur in the economic system.

V. Answer the following questions about eight to ten sentences each. 4x4=16
34. The struggle of the tribals was very important in the freedom struggle. Why?
35. How do you say that the Age of Moderates is also called the Age of Generous

Nationalism.

OR
“Britain utilised the resources of India during the second world war effectively”.
Substantiate the statement.

36. Today all the nations of the world need to strive against mutual destruction. Why?
37. List out the biosphere reserves of India.

VI. 38. Draw a neat outline map of India and mark the following. 1+4=5
A) The line of Indian standard Time B) Utkal Coast
C) Narmada River D) Pampa Sagar
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